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SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
OA=SUHE NZAEH| J|I2HH 22K M
o2 1,686
—-Jl23 7803 *8A| 2tx1H »21d «10& 1,311
- =58 7803 *8Al 2t *1H x5+ 10& 312
— X 7803 *x8Al 2t x1H +10& 63
OHA=E=UE NS HH JIZtHZ2E2X B8
= 1,668
—=0H3 16,223,000 *45/1,000 731
— AL EE 16,223,000€ *30.6/1,000 497
— LRI UYEE 503,000 +65.5/1,000 33
- NE8E 16,223,000 «15/1,000 244
—MHEE 16,223,000 «10/1,000 163
401 AEBIZL LY 4,800 0 4,800
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405  XHAHFE S 16,000 0 16,000
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ull 14,494
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OA=ESUHE N2 HH| J|I2HH225 28
= 1,637
—=20d3 16,248,000 *45/1,000 732
—H2AEE 16,248,000 *30.6/1,000 498
—LOoIMILAESE 498,000 *65.5/1,000 33
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SN A=
B WRE FHBY ZH(TELNANL/NALE AN
©9: DIEGAS A ARHE =X CERT
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 0l & 3,000 5,000 A2,000
(@F=3=0:=1 3,000,000& 3,000
307 glZtold 175,000 175,000 0
02 UAHABLASEX 175,000 175,000 0
= 0l & 175,000 175,000 0
OAnl B X3 A&
175,000, 000& 175,000
AF0H A 1,606 0 1,606
201 LBt 49H| 1,606 0 1,606
02 22293l 1,606 0 1,606
= 0ff &F 1,606 0 1,606
OH=E & PRFA BRI 1,606
=Pl 1,930& x7201 1,390
— gt 300& 7204 216
AF0A oA 2,141 0 2,141
201 LBt 49H| 2,141 0 2,141
02 23293l 2,141 0 2,141
= 0 &F 2,141 0 2,141
OH=E 8 g2FA 2ER 2,141
—3sJ|*H 1,930& 8024« 12& 1,853
—gpteH 300& 8024 +12& 288
AF2UE Nz 17,271 0 17,271
101 o124l 17,271 0 17,271
04 JI2ZtHIZ22HSE* 17,271 0 17,271
= 0l & 17,271 0 17,271
OCAHA=SUE = FH JIZNIEX 1A
]l 13,976
—-JIE2= 6,470 3 «8Al 2tx 12 +212 x 108 10,870
-5 6,470 & *8AI 2t x 1H x5 108 2,588
— XY 6,470 *8Al 2 x1H 103 518
OCA=SUHEXZEH JIZANZZ A &
= 1,686
—-JIE2= 7803 x8A| 2hx1Z »21 «10E 1,311
- F=5Y 7803 x8BAl 2t *x1H x5Fx 102 312
PN 780 *8Al 2t x1H 103 63
OH==SUE Nz U JIAH=2=ANEE = 1,609
— 303 15,662,0002 *45/1,000 705
—Ad22E 15,662,000 *30.6/1,000 480
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SN A=
Mo YRS F)HEY ZH(FELNANL /LA
Sol: Jt2 AME CIRe (cte: @
x s . Of &t o8 & & 0 A o -
SA B S (SH) - MEMY - BES Sl T BlRE2
a2 FRAEE R 49,950 5,000 44,950
201 et 49,950 5,000 44,950
02 BZ2AH 49,950 5,000 44,950
=0 4 5,000 5,000 0
Oaaidiel =82 ¢ AIEES SRz
5,000, 0002 5,000
z213 ( 49,950) 5,000) | ( 44,950)
Oaadiel 82 L AES R
49,950,000 |( 49,950) 5,000) | ( 44,950)
ST LA 22 42,500 20,000 22,500
201 Yere | 42,500 20,000 22,500
01 A2l 42,500 20,000 22,500
=0 & 17,500 20,000 ~2,500
OANZES theists SH XA FH|
250, 0002 +702 17,500
=213 ( 42,500) 17,500) | ( 25,000)
OMEBES BH2iots 28T A F|
42,500,000% | 42,500) 17.500) | ( 25,000)
CIXtel HASA 28 (FELNANL/XALEAI) 50,341 50,541 £200
SAICIREO! Dl & 50,341 50,541 £200
SAORL 29 46,591 46,791 A200
201 Yere | 42,291 42,291 0
01 A2l 42,291 42,291 0
=0 4 42,291 42,291 0
OSAEME(BI) JHBD 248
10,000, 0002 <474 4 40,000
OUIXE 28 TN 78 640
—g 20,0008 15«12 240
—HENEH 100, 0008 4% 400
OCIXHO! i JHZ I (CORIZ bI)
2, 1702 *300% 651
OCIXIO EEAOIE ABE
1,000,000 =13l 1,000
203 Y@= 4,300 4,500 £200
03 AMETYRETY| 4,300 4,500 A200
=0 4 4,300 4,500 £200
OZACITY Z2HME HREXY|
4,300,0002 4,300
SACRE A 3,750 3,750 0
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CIAtel SAS A ZE(2E

o2l T AICIXECN I & (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
201 eI 3,750 3,750 0
01 AtR2Zeltl 3,750 3,750 0
= 0l & 3,750 3,750 0
OS2EF UX2 SZ2AY &I 3,750
- 25 1,000,000& 324 3,000
— & Jthl 150,000& 521 750
HY2IAU (AS22 ) (IEH/DIIEL 51,100 0 51,100
Jl 234l 51,100 0 51,100
Jl2&l 51,100 0 51,100
201  LBt249| 22,680 0 22,680
01 At 2eltl 22,680 0 22,680
SHSOIA 19,440 0 19,440
=213 ( 22,680) 19,440) 3,240)
ORAMN23II=23H| ( 3,240) 0) 3,240)
— Y Bt=ZH| 40,0002 «6H x6& | ( 1,440) 0) 1,440)
— =2l 50,0003 *6H 62 | ( 1,800) 0) 1,800)
202  Oidl 25,920 0 25,920
01 =2LHA I 25,920 0 25,920
SHSOIA 25,920 0 25,920
203 YR F&H 2,500 0 2,500
04 2EN2IYRFAH| 2,500 0 2,500
S AH =0l 400 0 400
=313 ( 2,500) 400) 2,100)
OFNM2IERFLIH 350,000& 6 |( 2,100) 0) 2,100)




